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"Haryanadobs.in"
5 Nov7022 1st Shift Paper

Which of -the following waterways has been
declared by the Government as the Natlonal

" Waterways N.W.No. 27
The Ganga river between Aﬂahabad and

(1)
Haldia (1620 km)

(2) The Br ahmaputra river- between Sadiya
: and. Dhubn (891 km) | | ]
'(3). The West-Coast = canal . Kerala. -

- (Kottapuram — Kollam, Ud)’Ogamandal and
. Champakkara Canals — 205 km)
(4) Spec1ﬁed Stretches of Godavari ' and
" Krishna rivers along . with
. Kakinada — Puducherry Stretch of Canals _
(1078 km) -
(6) Not attempted

Selling off a part of the equity of a Pubhc Sector
‘Enterprise (PSE) to the pubhc is called. 5
(1) Nationalization 2

Disir_we_stmei;t- D .

Delimitation

: Communisationl

Not att_enipted :

(3
(4)
(5)
In a Market Equihbrluril figure, if the Demand

' curve shifts leftward and the Supply curve shifts

nghtward s1multaneously, what is the 1mpact on.

‘ Ethbnum price ?
= _(1)
@

- (3)

Decreases
Increas_es :
'Remains constant
‘ Remams undec1ded

N ot attempted
| X (

@

IFs

. India’s first natmnahst art school was established

in which Un1vers1ty in 19192

(1) Ahgairh Muslim Un1verS1ty
AEin Vi'siraLBharati“University 7

(3) Banaras Hindu Umvermty
Allahabad Umversnty

(5) N ot attempted
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) F’ﬁﬁ“a*‘i%ﬁﬁ@%ﬁmaﬁew
1a
T Wﬁw%&ﬁmm%maaﬁéqﬁ:ﬁﬁ
. R |

ﬁﬁﬂlﬁﬁvﬁwﬁmmgﬁrﬁﬁﬁ'

: & w4 |
ﬁﬁﬁﬂ’l%@?@ﬁwmwﬁﬁq
(1) A (b). ‘
(2) (2) 3 (b) 5

(3) (@), () 37 (o)
(4) (a)3m ()
(5) ST TE AT AR

fefafes & ¥ $9-8 W 9 anw waqﬁ%:
 TEE?

(a) WWd A

C(b) T TSI SHIER

(c) STeferam

@ ¥ :
ﬁﬁqm%ﬁaﬁﬁmwwﬁﬁq
1) (@3IRDB)

(2)  (b) 3T (c)

(8) (a)3M (c)

(4) (b) 3 (d) _

(5) IO T 20w

o W%Hﬁmﬁmﬁmaﬂ%%mﬁﬁm%ﬁaaﬁ '

A PH-FYY FuT 98 B2 ?
(a) W‘cﬁmIIIﬁWHﬁm%ﬁﬂﬁiﬁ

g ) GRE F@ 6 wfe 2 |

“(b) Hﬁmmﬁm%ﬁamwﬁﬁﬁm

o s EhaT 2 |

©) aﬁmmﬁmﬁm@qﬂiﬁmaﬁ%m

Which among the following was/were feature(s) of
‘Subsidiary Alliance’, a system devised by the

. British in colonial India ?

(a) It was devised by Lord Wellesley.

(b) A British army contingent was to be
- .stationed in the territory of the ally.

" (¢) The ally could never get into agreements

with any other rulers.

~(d) The British were to protect the ally only

. from the internal threats to power.
Choose the correct option from the codes given

- below ¢

(1) Only (b)
2) (a)and (b) '

(3) (a), (b and (0

(4) . (a)and (d)

L (B) Not attempted

Which among the followmg countries would be an

~ example of * coming together’ federatmn ?

(a) India

(b) U.SA.
(c) . Australia
(d) Spain

. Choose the correct option “from the codes given

' below:
(1) (a)and (b)

(2) - (b)and (c)
(3) (a)and(c)
(4) (b) and (d)

~ (5). Not attempted

“Which among the following statements is/are

correct with regard to the amendment of the -
Indian Constitution ?

- (a) Parliament has the power to amend any

part of the Constitution except for Part IIL. -

(b). A Constitutional Amendment Bill can only
be introduced in the Lok Sabha.

(¢) The Constitutional. Amendment Bill once

. gyfe <t AN Al ATTEHA Bt e | passed needs the assent of the President.
Vﬁ?} ﬁqm% 5 1:@ & 7 T AT S:;g?’vse the correct optlon from the codes given
1 (23 () - 1) (a) and (c)
@ w9 b) : (2)  Only (b)
(3) a4 (c) ‘ (3). Only(c).
(@) (a) 3R (b) (4)  (a) and (b)
(5) Iox &l T IRd (56) Not attempted
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wyt #f waffos @i vew a8 ?
(1 P |
@

(3) aﬂ%mﬁ ‘
L@ .
(5) TR TE A

17%@2022@%%5@&“ L2
T o7 ? |

(1), ‘W,Mﬁ”‘

@ “amdmme

3). “aEﬂﬁﬂTW’ ;

(4) l“{zrwwa?wa?fm’; e

,‘a'n'ﬁ%ﬁ%rq%msrm%?
‘) e :
@ hAd
@) ¥
@ %qam _

wqaimmﬁ

ay W“““mmwm% ﬁfﬂ%ﬁﬁﬂﬂﬁ%ﬁ@ﬁ%

sirefire & s 3 ¥ 1960 & @ 2020 T >

11.

oK, e o e A E 2
O e

(2 irent ‘J,..‘ ‘

3 Ydrorey

@ ey

(5) m“ﬁhmﬁ

RAMA/A1/Page 4 iy

10.

¥

In Olympics, India has won the max
number of Gold Medals under which =
‘since 1900-to 2020 ? Category

(1 Shootmg

(2) Hbckey

(3) Boxingr.

(4) Wrestling

(6) Not 'atterhpted .

What was the slogan of the ‘Patient Safety Day’

which was observed on 17th September 2022 2

(1) “Health Without Medication”

@) «Meditation Replaces Medication”
(3) “Medication Wi!:hout Harm”

(4) “Health With Yoga”
(5 'Not attempted

Which of the following plastics is used for ﬁlaking

electrical switches ? -

(1) Polythene
@ PVC

(3) Bakelite,
(4) Teflon
5 "Not attempted

What is the name of the plant group whose
plants bear naked seeds and are usually

perennial, evergreen and woody ?

(1) : Gymhpsperms
2 : Angiosﬁefms
. (3) Pteridophyta
‘- Bryophyta

(5) Not attempted

- |
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14.
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ﬁﬂﬁﬁgaﬁ‘aaﬂ?mﬁm%? :
@ e > e > A e
(2) T > FREINSE > Hratge > frmange
3) m>ﬁm>m>ﬁnm
(4) fremmEe > Jemme > firmaree > Same
¢ T

‘(55 mqﬁim%ﬂzﬁ '

ﬁmﬁr@aﬁﬁaﬁq-mwaﬁwﬁﬁeﬁaﬂséﬁw
FERAEHG?

S (1) %ﬁﬁm@m%ﬁeﬁ:méﬁwm

ﬁg%gqéaﬁsha%m%mwwél

(atfetar) wgq ST A B | -

'(3)-%%23%@@.1@@@@@*‘3?@' _
W T g A ? R g e % |

qﬁeaﬁmaﬂ%émmm@

i (5)’» 'ﬁtqeﬁm%mzﬁ.

 15.

(5) I A
RAMA/A1/Page 5

@ R
3) e et -

() e

agé‘aqtmmm%m@?fﬁzﬁf

12.

113.-
@
(2) Mobﬂe Apphcatxons

14.

15

»mﬁewmm%emﬁm
'm(gﬁeﬁw)wﬁsaaﬁw%? '
) eeRmwRm

" Which of the following is the correct sequence ?

6} Kllobyte > Petabyte > Yottabyte > Megabyte .
(2) Megabyte > Kilobyte > Terabyte > Gigabyte
(3) Exabyte > Petabyte > Terabyte > Gigabyte |
(4) Petabyte > Zettabyte > Gigabyte > Terabyte E

" (5) Not atte'rnpted

Google Bing and Yahoo are examples of

‘Search Engmes

(3) Software -

4 : Firewalls
(5) Notattempted

Which ohe_ of the following statements is correct

about Uniform Resource Identifier (URI) ? _

(1) Itis a set of rules which is used to retrieve
' llnked web pages across the web

(2) 1t is a unique address or path for each

resource located on the web

'-(3') It is a unique value assocxated with a

network adapter

4) Itisa umque address that can be used to
umquely 1dent1fy each node in a network.

'(5) Not attemlpted

Whlch of the followmg is used to ensure accuracy

\ and reliability of data in the database ?

(1) Database Schema

: (2), . Database Gonstramt

'(3) Data Dictionary *

4)
(5) Not attempted

Database 'instance :
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16. - B %R ‘BLUNT® =7 g5 RN ' : '
T < ’ ¢
1BuTn’ & &, 9 YW [16. BLUNT is related to 1BuTxn’ in the same way, -
' §

T'QTFF/SPACE FOR ROUGH WORK

‘SHARP' &1 a9 e |
R & ? ‘SHARP’ is related to . ? .
(1) Hspak ' - (1) HspaR B 21. frefe
(2) PraHs . (2) PraHs
(8) - hSaPr (3) hSaPr o
(4) AhSpR 4 AhSpR 4
() I T o e ~ (5) Not attempted b
17. ﬁm S#R ‘ANGLES' 1 qay ‘GNASEL’ 3 wﬁ 17.  ‘ANGLES is related to ‘GNASEL’ in the san. @
gR ‘SQUARE’ &1 ?WEI %aﬁ g ? ] way as ‘SQUARE’ is re]ated to 7 . ' &) .
e (1) UQSERA ‘ (D UQSERA _
(2 UQSARE (2) . UQSARE cﬁ‘} .
‘ (3)1VUSQE,RA L (_) ‘USQERA | \)&5 ' 22. —Cﬁqgﬁ
@ UQSREA =~ ... il i @ 'UQSREA i
6y W?’éf%’ﬂﬂﬁa ] (5)  Notattempted zr?rs;
18., ﬁ-;:,{%,—ﬁga ¥ e ye 3 Zﬁﬁ:‘fq , 18. Flnd the odd one out. iy
) - W ‘ \ Q) Audltorlum Cbmr
@ TG - ‘ﬁ_ﬁ padet e B EXN (2)" Petal FIOWer
o v o S < (3) Finger - -Hand ‘
(0 S, e R '(4) Brick—Wall -~ ey
4) f-d@ER .+ (5) Not attempted (.
(5) IW ' ‘
Taa:nm e g - |19, -Select the combination of' numbers so that th
19, W HE wEe W ELEl W ﬁrﬂﬁi 3-'131?1? 3?&1’& @t  letters arranged accordmgly will form ¢
me@@mmmmﬁ' S meamng‘ful word : i p AG 1 F
GNAEHR ' GNAEHR | ) X
ks 2)
128456 1 208 475 .6 iy S E .
W 5305440 0 - g3\ Y @) &
o . @ 531246_ | E o i
® 53.,2, 1,‘4,6 (2_ . C\e/k _ 4)
@ 3’3’,1’2,6,4 3 53126 4 ' .t‘y«@“y (5
29, XYZ- WE% 3 (5) Not attempted . | 2. 'ﬁ A
ﬁr:z %QRSOPMNJHI#_1234520 XYZABCQRSOPM JHI#+1234 1
(1). “%@nmm R orff i Peffad § @ - Which of the followmg is third to the right of t! o
& y Ry ol ' ' element which is exactly in the middle of ¥ .
(3) NG L ‘given sequence ?. (1) 1
5 J e Sy g .
@ y 1 M (2) 1"
(5) My e @ N 3) 15
i ® =
ot attempte iy e | '
e ' 'RAMA/A1/Pac
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1)
2)
(3)
(4)
(5) -

5, 15, 20, 24, 25
15
20
24
95 o

99, 1 FuAl % w1g o fswd few mu ¥ | wmwmE: W@
=t @ A 219 gu ot i w g 7 gu g Tl
ﬁﬁq%aﬁw%ﬁqmﬁﬁw&ﬁqmm

§ e 8 1

_ m:‘ @@'ﬁmﬁ%l

' g ER R |
. i ammweRE |
A (D FOwewRE |

)
@)
®
@
5)

o gewREEE

(I qu@amat%z%l ¥

et 1 3R 11 feberd &
h;anaﬂxmﬁm%u%

e 137 I Fererd €

W 1, 11 3 111 fererd &

/

23. ﬁmﬁﬁam’g@wﬁmﬁam%ww

_known facts.

@md the odd term out.
6,15, 2Q,24, 5.
. ! \, | A::. 0 2, \
W 155 % Y r; { A X By \’
2 20 ° \o s A
A3
- 24 ‘\’“\1
(4) 25 oy, % 2
~ (5) Not attempted
22, Three statements are followed by three

conclusions. Take the statements to be true even
if they seem to be at variance from the commonly
Decide which of the given
conclusions logically follow from the given
statements.
Statement\s ;- Some plates are spoons.
" Some bowls are plates.
. All spoons are bowls.
Conclusions : (I) Some plates are bowls.
(II) Some bowls are spoons.

(III) - Some spoons are plates.

(1) OnlyT and II follow
(2)  Only I and III follow
(3) Only I and III follow
(4) Al II and III follow

/(5) . Not attempted

Which number will come in place of the question

&

23,
- H’@Tl 31Tqrﬁ 4 . mark (?) in the following numerical series ?
27 216, 729, 2 , 3375 27, 21@6’ 9, 2,335
(1) 1729 (1 1729
‘(2) 1728 @) 1728 ML
(3) 1500 (3) 1500 Sl
(@) 20736 @ 20736
) ;ﬁ—( T 21 = (6)  Not attempted
T T % T T / SPACE FOR ROUGH WORK
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e —————

m———

You are the owner of a restaurant. Ope ,

24.
24 AN TH W F mifve § 1 s o feefiat =4t delivery. boys met with a minor accidey, f o & R
: AT @ ’ﬁTrF{ gga H ajam F et 3&;" rushing to deliver the food on time. He needl‘
RrER A W | 9@ 5 R % oW A maga%ﬁm " for 5 days. Which of the following actions ,, “\ wfercie Tt
‘Wﬁw%iﬁaaﬁﬁﬁq.pﬁq;r{méaf{ﬁ? take ? o < feaie
) 9 T Aot F Frerer 31 (1) Youwill terminate him from the serviy, e forer
@ ¥y 5 R % f%fq'ﬁ?iﬁm w3 IL i | (2) - You will suspend h1m for. 5 days. sqered 3 2
3 m I 5 BT ’l%m o & @@l TS + ®  You will ask him to go on leave Withoy, 700
fq s, . ¢, for 5 days. ' @)
(4) 99 3 5 &7 1 g3 o@H@ o AN T:Rﬁ @ ;You will give h1m paid- leave for 5 days (2) 210
o Tafsrear = =1 o unic .—,-,—}ﬁ | : @ will also pay for medlcal expenses 3). 900
(6)  IW T&pf kol EHE'FI‘ (5) Not attempted '
, ' ' ' : (4) 300
25."""’()() 3 ng TalH] aY L s .
1S A B C D E 3ﬂ—{ F g—ﬁ'aﬂ%ﬁ% | C D ﬂag‘[ 25. ‘A, ‘B’ cc9 ‘D’ ‘E, and tF’ are SiX perSOHS C i
N T o 21 B iR D W A F d ! older than ‘D’. ‘A’ is the youngest ‘B and T, (5_) ST
N ‘B’ ‘E"QIEIET% I'CFADBR | ‘B’?fa%ﬁq g7 of equal age. ‘B’ is older than ‘E’. ‘C’ is you,
‘ A 1 ¢ 3ﬁt D ~ than F’. Who ¢ are older than ‘B’ ?
(2) Caﬁ(E - (1) CandD 29. e FhE
3) F3RE. (2 CandE @D@C)@ 31 ‘old a
@ FEsc (3 FandE . . RUESIE
L ® m:@ammgﬁ @ FandC $ = At vt G da
‘ 6) Not attempted
26, fefifa e h ’i@Fﬂ ﬁ % ﬁa WH W ﬁwﬁ | (2) pa
. T T 2 - : 26. Whlch number w1ll replace ‘X in the gm 3/ ta
0,7,26,X, ‘124, 215 - ) 7 numencal semes 7 '
L 60 - R X, 124, 215 4 na
2 65 W g0 i
i : o3 5) I
3) .62 E @ 65 N if ) \1’:’ i
S @ 63 V) S 62 A : 5 -
; ./(5)_‘3?11:{5"@:,13@ Gl '..-(4)'."6.3‘ A 30. =g =
27'ﬁﬁmm%aﬁwmm " Oattempted %|
: T W BRAL EIT m ;
: i Eﬁﬁm ' 27. » Fmd out the word Wthh can be fi Q) H
: SUPERVISION sl the letters of the g‘x\'en word. Ormed by usit bt
(U RESIGN - - SUPERVISION .
(2) POISON - ()" RESIGN @ N
(3 REVISIT . - (2 PoIsoN
(4) NERVOUS . ; - (3  REVISIT o
(5) IW T&‘Tﬁ:ﬂq@ , i H.'..( ) : NERVOUS. _‘ 7t (5) =
RAMA/A1/Page8 W M. (8). Not attempted o) S
: %QW/SPWJ RAMAVA1/P;
b N
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a;a—,qﬁq%ﬁmmquoorﬁﬁﬁawwmﬁ
e fomf@ T S A | 97 e 70w

S Fafa TR 6 TR&% o= =) 3 e |

st fd w6 | B $ o gw e st

e 4 7
700 |
2) 210
. 90
4) 300 '

af ﬁ,—;ﬁ?@ T # ‘over and ab'ove’_v FI ‘da ia'a ta’

28,

got 3

(@

-..(5)

On. Ajay’s birthday, chocolates were to be
distributed equally among 100 chlldren He could
dxsmbute to 70 children only 80 that each child

chocolates eera.

How many total

chocolates were available for distribution 7

00 Ao X
: _ oA =
2 210 . \=
) (3) 900 ,>,9—u- e -‘A,\’S'
‘ o~ o .

A~ \*~ =]

(4) 300 \Q‘T‘j‘ e = "‘),
' \.' -} AR J)}

Not attempted ' g

29. ‘ ‘ ﬁ o 29.- In a certain code language ‘over and above’ is
3 ‘old and beﬁau ’ ﬁ ﬁ.::{a Ra: DA fren % written as ‘da pa ta’ and ‘old- and beautiful’ is
‘and’ SIHTT{ ferat 9 - . ' . '
A _ﬁﬁ @ HH m | written as ‘sa na pa’. How is ‘and’ written in that
. ‘(.1)- da code language ? ) | QC\_
o : | OJ“\7 7z
(2) pa : (1) da . :
.(3)/ ta @ pa
(4} na - (3) - ta.
'(5) mqﬁimm% 4) na
: : : : (6) Not aft_:empted
30. ﬁﬁqﬂ?ﬁrwmsﬁwaﬂ%ﬁéiﬁamw '
21 : | | L |
) . 130, Find the odd one out which is coded differently.
(1) HOPE : EHPO Y. .
- K 2 (1) ‘HOPE.: EHPO
(2) TUNE:ET RERITON '
g N BINU e il (2) TUNE:ETNU
3 ’ : . : ' . N .
(3) MORE : ERMO (3) MORE : ERMO
4 PLAY:YPAL (4) PLAY:YPAL (
©) 3w 7 T == (6) Not attempted ’<\ /
RAMA/A1/Page o T% &Td o ToTY AT / SPACE FOR ROUGH WORK ' i\ (
| Radkii ™/
Y 7, : Tre
% <Y
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31.

The closest approximation of the f

|
duct : L' :
31. = oEwa pre L V5. afz A
03333x025x0499><()125><24 o 03333X025X0499X. the A,
mﬁmqﬂ% s - . Y3 A
1 = : B )
. = 5 o ' 8 e &w g &
8 ,(./ r <+ ?‘F/p‘“ (2
3 z‘ *x/“"’ ’ @ 2 o +55 Wy
@2 < NG wS \/O 4 n& \ () 3 .
4 Kb ‘7% © T. cermt XJD '
Pl P 5 o | @
3 (SIS @ = N y Y,
® 3 ' -8 AR P ®
@ 2 @ @ 2 a AR
.5 ‘ » 5 g6, A
5) - =W q—gg;n e . " (5) - Not attempted. TG
' - ; . o o oy fet oft If a 3d1g1t number and Yy is a p g\
. o i & i y, x 3 o B A A 33, I x s 5 :
32, Al xﬁ@ 3 B En?%ﬁ q@i{ & sem x-9| obtained by permuting the digits of x i, e
_ g L) :’;ﬁ S e P : manner, then (x - y) is always divisible by &’
W pr i SN . ‘6&:? - By )
@) 6 iy
@ 6% 5= ek ./.o\ 3)
| . @ 9 e
(3 9d (@) =12 ‘ v @
(4) 129 (5) Not attempted ' ()
(5) sawa%émarsa : ‘
‘ 33. The sum of two numbers is 45 and s o
33, o GEATe W ?ﬂTN%T“T 45 B qU1 IR W W =l difference is one-ninth of the sum. Then & 37. ik
gaf wri & | gewed W LCMe: T - LCMis: = 3 S 2
1) 100 i, el i (1) 100 - £ (e e
@ 150 (2 150 AR
(3 200 (3) 200 T o <° Y @
@) 250 @ 250 shas.- T i 2
B ) Wqﬁé’q’gm@ﬁ v (5) Not attempted =~ . X (3
34, & fftw m A, & ﬁ.ﬁﬁ ﬁFW ﬁ@aﬁ q |34 The trafﬁc lights at’ three different signal p* (;
. @l €, w45 ¥, 75 Fehg T 90 i % 91 P ;l(l)ange aftzr every 45t seiondslf75 Z;cond; ‘1 (
: seconds  respectively chi
l ics
e Té%% @ R z‘zﬂ q{;?ig 20 :.15 q% b1 sunultaneously at 7 : 20 : 15 hours, then they“' 38. {
. EURIEIEE @ q a?\'é"ﬁ ? 1 next change again simultaneously at : "
(1) 7:28:00%W @ '7:2~8:OOhours U&,\; ) <
@ 7:27’45‘3? (@ 7:27:45hours A
@), T30 | (3) 7:27:30 hours e
@ T7:20:50% (4) 7:27:50 hours A\ \" :
(5) I T 3 < (5) Not attempted e
RAMA/A1/Page 140 : mm'ésfmwmsmce FOR ROUGH WORK k 0({ x° et
' /it G
("o Ko
A RIS IS
’ WA K\/*«/ A8
v ql?-/ ‘ Q-v? \

L% /YD


dkmal
Highlight

dkmal
Highlight

dkmal
Highlight

dkmal
Highlight


Join Telegram Group "HaryanaJobs.in"

35"aﬁA£fm’Bﬁm‘:"10% o 2 o B 61| 35.

If the income of A is 10% more than that of B and
m, C 1 9@ ¥ 20% F R, A sy, A, B T ©

- the income of B is 20% less than that of C, then

A 5§ AT R , ‘ tl:le incomes of A, B and C, respec‘mvely, are in
' : : : ’ t eratlo e
©11:10:8 s ' | ©°
m, o | (1) 11:10:8 Ca\” 4
@ 22:20:25 - : | .Y W
P | ) (2) 22:20:25 Y TR
@ 10:9:1 @) 10:9:7 . ™ | :

) 22:18:25

. T B (4) 22:18:25 \ . ?.-_;'_. ¢°
(5).3—\:‘(%‘@% - _ ~(5) . Not attempted W :

3. A1 X &, qu ?5 f:mm ? 1 98 3'8 ‘-Fﬂ'lﬁl i tI'H 36. Mr. X has some money with him. He has to
1 [ el . .
a f:: .2 * 343‘11?1 Tt distribute this money among five labourers in the
9 3 "475° i | 1. 1,1 1 1

% | 3’833 oo W@IEFEI ﬁh_tFﬁ sl @:ﬁ ﬁ r\affoia‘: E Zg 7 What is the minimum

'WWW Eﬁ ‘{ﬁ E@[ T Wm T;?[ 2. aﬁ:ouﬁt ile should _have, so that each labourer
5 (.1)_ e ande i 3 -getsh an exect number of rupe.e; ?‘ 50 o' V\6¥ 2
oo S : : ' (1) T 358 ‘ W

Q) T420 . : . e . cw?

R ot e G
7512 o a Ay - i
i Gt NG @ zeiz
(4). T599 4) T599
(5) maﬁé?ﬂins%

| , et (5)1 Not attefepted,

37. ?ﬂqﬂ'—m H@TQ' "%l%ﬁ?ﬁq‘re@raﬁ%aﬂmw 37.
' ﬁﬁéa@a@mﬁsw%lmeﬁm '

There are three positive numbers. One-third of
the average of -all the three numbers is 8 less

3;?'1 @l Ty @‘-]—a qE 1 3ﬂ'§lﬁ 8 2| ga@ §gl| -  than the greatest number. The average of the
H@lw% 9 - _ _smallest and the second smallest number is 8.
Py % , s : ' 2 | What is the greatest number ?
1) 9 _ ' - :
. M S | . . ) . ._ (2 10 . : : l—'?/j e 7{9
@ n A - ‘ a ! gl 11.‘ : i“\-:) -
: 5 . ) o \ R : o ?- = d } -;.%X‘Z’" BK N
) W?‘&"f%n =T&d e : : (B Not attempted . . AN Y
. igt o ‘, ‘ | 1% : _ b\},\» ®
i i . AR
38. (\fﬁ 3216 +3729 +HeE ) EHET % |ss. (J1331 x321 + 9739+ Y61 )isequalto: ™~
M. 136 0 | S e (VR Y Loake
LIES N SN SO G Gl kb Y
@) 14.89 -, : B (3) 14-82 (:\}
(4) 90-88 T 3. ' (4) '90-88 '\/
5) 3w & oy (6) Not attempted
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39. T W # T 18,700 § AT W, e wH F

- 15% R B Bt ? 15%?1131%?%‘!7"3“@,

%‘:f 792

-~ (1) 21,000 ' ' g%}
(2) % 22,500 N

' 3) . % 25,300 b Jo*f{ngy

@) T25800 =¥ %A 25 A
(5) am:@é:nmga - VY '

Join eIegramGroup "HaryanaJobs in"

| 40.

W

When a plot is sold for T 18,700, the OWne,
15%. At what prlce must the plot be So]dl
to gain 15% ?

39

Ord

w = 21,000 P % /Y@
(2) T 22,500 4 '
N 3+
(3) 25300 = (
(4) % 25,800 X
(5) Not attempted

If an article is sold at 20 percent profit g

- 40. Erf% Th arg' 20% T W %a‘} TS, ?ﬁ f # G FE-A which of the following is the ratio of its cost
@W%Wwaﬁ(ﬁﬁ@ﬁw_%7 S to its selling price ? l
® 5:11 \,4"/5 @ 5:11 sty
(2) 5:6 \"3 (2) 5:6 2
. J : o < (
(3) 6:5 { - @3 6:5 et
e _ \) : 19 1
.4  11:5 ))\ ;};\\F{Q (@ 11:5 S
(5) I 7 é:n =Ed : ( ~ (5). Not attempted
41 A ﬁ < 38,000 T AR T B | 5 R 5|97 A Sta”té}‘:.a -Eus_ff}esz i_‘}‘:{‘?Sﬁ_n%t: 38’000;t"-
a7 55,000 tEﬁ oM T B ﬁ ot 3 F 5_ months, joine im wi a capita
Z 55,000. At the end of the year, the total p
iy R | @ % oid § T 22,000 F FA @1 5 | 2 . . e
- was T 22,000. Which out of the following is
’ﬁﬁﬁﬁﬂﬁ??ﬁﬁAﬁB%W%WW ; ; -
3 o approximate difference between the share
» H ”i_%?_ i ?‘ . D/( \ ¥ A Q_proﬁtsoanridB?‘ & ©
(1) ¥ 1,007 5 LA TS (1 = 1,007 ol 5
2) 71,192 g Ty PN > v
‘(:) T11 2 o g( (@) 701,192 + - Sy
| (3) 1,857 . TRk RS- T L (8) T 1,857 N -\
| @ 71928 u{( ) ey Qs 1
d o ‘ (5) Not attempted s A’
T s P i o
| — e '
| 42, ‘14 #. s a9 35 :ﬁ W‘a‘ % @ 31 Ao @1 |42, The cost of a solid cylinder of radius 14 m
Il@, Tﬂ% T Wk HTg r@q F 50 gﬁf oCh :ﬁ ~ height 8-5 m, when, the cost of its metal is’
- EER - per cubic meter, is: ¢
| 1) £1,00.908 (1) T 1,00,208 YW WS
\‘ ’ ¢ i ) L ‘ \/\'D 1$\*\\\~\‘ 3
A; @ 7107800 @ < 1,07,800 S \/
| e | Y
F (8) % 1,08,000 (3) ¥ 1,08,000 2 e
- ; (4): ¥ 1,09,800 ‘ (4) < 1,09,800 -\\>7f
I :
]4 ‘ (5) sﬁz?ﬁf%‘ma@ '(5) Not attempted % A
| ~
|| RAMA/A1/Page 1 :
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f1265rﬁﬁﬁeﬁﬂmam?135uﬁfﬁ,—vﬁmﬁm
B o A T A IR A 10y

s 3 P TS T R e 2 g5y oy
i &, aﬁeﬂnﬂmsﬁﬁmwgﬁfﬁ@mﬁ@
2 '

) ?16.9.'50

(2 17000 <

(3 690" e /\6 4

W T18000 . - \/

(5 I T r\7%\/

o o ol T e B W g v

o fq i W TR O T TR g w |

o 1 T 8 1 5 B | A THH B okl g H
%qmmm,ﬁa%WWﬁﬁﬁﬁﬁﬁﬁww
.rrrqm‘?

W sefT

_ Y
@ esfF {3“’L'7“‘(O
3) sofm _ . 5
@ 104fF |
(5) I ¥ AR

44.

43.

e

.(5)_

45.

Tea worth T 126 per kg and ¥ 135 per kg are
mixed with a third variety of tea in the ratio
1:1:2. If the mixture is worth T 153 per kg, the
price of the third variety per kg is :

(1)

A man and.a boy together can do a certain

amount of digging in 40 days. Their speeds in
- digging are in the ratio 8 : 5. How many days will

the boy take to complete the work if engaged
alone ?

' : ~
e BN
52 days A { g

@ 6,8'tlléys ?:_’:‘:

‘(3)_ 80 days e

_(4) 104 d-ays :
Not ‘attermpted

A sum of money at simple interest doubles in

7 year_s. It will become four times in :

%%aﬁﬁwgﬁ@m" (1) 18 years P
‘ 1 i afge M LR

(1) 189§ - (2) 2lyears. o R \ T g

2 s . o
.( ) 21;[& (3) 38 years 2= X T
e S
» | (4) 42 years . ¥o
(4)

) 4299 . ‘ (5) Not attempted \

(5) ST 3 e ' —

RAMA/AT/Page 13 7w 3 fo10 €T | SPAGE FOR ROUGH WORK
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/
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R

‘ mountains. and. the sea which gives the country a

~cultural, educational and. political development that
. generates both d1rect and 1nd1rect employment

" 46.

Join Telegram Group "HaryanaJobs.in"
49.

Read the following passage careﬁtlly and answer
questLons 46, 47 and 48. - ;

India is one of the oldest c1v111zat10ns of the WOrld
which offers a kaleldoscope of cultural experiences. The
country has a rich heritage and numerous - attractions.
It stretches from the snow-capped Himalayan peaks to
the tropical rain- forests of the south covermg
32,872,263 square kilometers. It is the world’s seventh
largest country, d1stmgulshed from the rest of Asia bY

distinct geograph1cal 1dent1ty India showcases a
variety of hentage resources crafted hundreds of years
ago from huge hentage sites' to pnstme sea- beaches
Tourism contributes to substantlal economic, somal

Tounsm as an 1ndustry also. contnbutes to our
. country’s.
(1) populat10n and employment
o (2l ' agnculture and rehglon
(/4) ' rehgmn and statlstms
(5) Not attempted
47 Bes1des the World’s oldest cxv1llzat10ns Indla is |-
also the world’s _largest country ‘
(1) “third R @ 5
C () fifth _
@ tenih, ! U
(4 seventh i
LBy : Not _attempted
- 48,

; Flnd out a word. from the above passage Whlch ‘
means a country’s history,

traditions and- culture |

|51,

50. -

@

52'
- alternatives, -

N

Choose the word which is. Opposite ; in
the word underlined. -y
“Karthquakes are frequent in J apan‘.”
(1) extinet
(2) unusual
3 few
(4 rare
(5) Not attempted
Choose the Word which is opp051te in mg,
the word underlmed ‘
y “She'is slender in figure.”.
:'(1)‘ ‘ 'strong._' .
@) frail
(3) stout "
(4) sl.imw 5
‘(5l) : \Not attempted
Choose ‘the alternative which best expresz

meaning of the underlined idiom,

‘Her speech is always full of tall stories.

,“(1)_

‘long tales
(2) heroic ‘sto.ries ‘l
-3 exagg"[eratedtales
- realistic stories
(5) . Not attempted

In the followmg quest1on out of the
choose the one which ©
substituted for the given sentence.

“An apartment huildmg in which each apﬂf

is owned separately by the people living in!
i etc?.‘_’ : ‘ , also contammg shared areas:’
(1)) : idefltijcy ‘ \ (1) Condommlum
@ heritage “(2)  Multiplex
L (8) pristine - (3) " "Duplex
((54)) i;;:?:j::imd . (4)  Caravan \
N - (6)  Not attempted
. RAMA/A1/Page 14, et
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pick out the correctly spelt Word. 57. Pick out the correct indirect speech form of the

) Qutregeous *  following sentence.
(2) Outl'ageous.

(3) Outragous
(4) Outrajious : ,
(5) Not attempted _ | ' o (2) He said that he has bought a house.

(3) He said that he boﬁght a house.

1
)0

“T have bought a house,” he said.

(1) He said that he had bought a house.

54, Choose the correct passive voice form of the|. (4) He said that he would buyahouse

lowing sentence..
:;eetal will have finished the work. i ) NOt attompted -
(1) The work is finished by Sheetal.’
b @ The work will be finished by Sheetal.. |58, Choose the most appropriate. prepos1t10n to fill in
(3)° The work: will have been ﬁmshed by| the blank.
“Sheetal. . She succeeded iy dint of perseverance and
(4) Sheetal will ﬁmsh the work in due t1me " hard work. |
(5) Not attempted NS, e
55. Rearrange the following parts of a sentence (2) from
labelled - as PQRS to make a meanmgful “C (8) by
senfence. : ‘
P. deedsistobe -~~~ e Q.. o
Q. on to the future . T ;o (5) Not attem’ptegi
" R. _the power of noble : g i _ '
-85 'preserved and passed ' |59, The old man is lodking forward - the
(1) - RSQP _ ; _visits of his grandchildren.
@) <SQPRA. xS LTRIMGT CE G TN Ny T
A8 PQSR : izl e | - - | (2) in
(4)- RPSQ _ SUNE : A s e
(6) Notattempted -~ = ; : N ®© q i
: C : ; ' (4) with A

_ Pick out the .p.al“t of _the ,sgntence whl.ch‘has an (5) Not attempted
error, If there is no error, your answer 1s (4)_. - Ji

; The simplest method

e | o 60. F111 in the blank with the appropriate option
of welding two pieces of metal tdgether / : girer below.

T TR | . The Battle of Waterloo was won - of
. ‘ S Eton,
%pressure welding. - ‘ , o j :

T o - (1)  with the play field
W 4. g | @ onthe playing fields
@ B . : R ' ' (8) for play fielded
i; C R : | © (4 inthe played
5 No error ' : (6) Not attempted
Not attempted
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61, Frmifar faeed f a7 T

(2) F1.
8) -y
@ @
(5) S &

= &

62. ﬁmmwmﬁﬂm’zﬁaﬁﬁﬁmm%
Y 'agﬁwmgﬁm

@) g
@ agaﬁs:ﬁﬁzw

@ mmmﬁmmﬁqﬁm :

| i'5_)', mqﬁéma@

6. .'%ﬁ?maﬁmw%ﬁmw%aﬁrﬁam , ~ %
' R 67 m’m%mzﬁﬁwmmmw#

sﬁ?
' _A M
4-(2‘)
@
@ e
5) mq'é’fémaﬁ%

64. W%W@W@ﬁ? iy i nd

@y,
@ waRBm

@ st

@ i 3 e

) WEmEE

%P "Has’yam@édssmmﬁmm@m

@)
S ®

(5)

‘()
'(2)
o
, @

e
3)
@

)

R

o)

B I .

ErEEt
g % forg 34
'mﬁﬁq&’f |
g2 o

e T o e

66. ‘Gﬁwﬁﬁwaé’ zmm%sf‘m-fﬁawh
aﬁﬁm

R

e

-

o 7 2 T

s, ﬁmﬁﬁﬂﬁﬁ#mwmaﬂaﬁml
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1% %Td % 270 7 | SPACE FOR ROUGH WORK ?(Wi%w

e


dkmal
Highlight

dkmal
Highlight

dkmal
Highlight

dkmal
Highlight

dkmal
Highlight

dkmal
Highlight

dkmal
Highlight

dkmal
Highlight

dkmal
Highlight


R

9

[ A

M T

G AR T T e L -
ROBLL I | 3}?
@ T

e
70,

' "'_(1) wﬁﬁm
() agsrramr(
"(é)»'aﬁwm

72,

@ W

‘ﬁmﬁmmwaﬁﬁwwl | |
mﬁ‘ﬁ%’f g ?ﬁa@lﬂ%maﬁqm

71._"- mﬁﬁﬁg@éwﬁmmm%

R mmwﬁmmémmf‘@l
5 (5) Wﬂiﬁémmﬁ ' |

&) I e
RAMA/A1 /page 17
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m%"

(4) T AHTTHR
) wﬁiﬁmﬁ

(D) B, wten, W wm@‘a’mmr@m 1

2) %'?13% "SR ST . R
(3 T &=, :ﬂﬂsﬁ aﬂtm‘:rmmm?ﬁ%l

Wmha?ﬁ‘sm’%
@ il e
5

@ ® o

ﬁqmﬁawﬁ‘m’f W“ﬂ?ﬁﬂ'ﬂ’mﬁmw'

73.

74.

(1) e

(2). FeA

(3) TR

4) W

‘('_5)' <o T 27 e

ﬁqmﬁamﬁmﬁawmmm
Wk |

§ @ .ﬁﬁm@aﬁqﬁm%l

a b gagixﬁaamaﬁmﬂé’r% |

75.

“FE
W‘WETWWWWW_E{WI

@ A o
(@ A e R A
). ww Ta“rém?ﬂgﬁ

agam‘f%’ ém%ﬁaswm%%q

A

e o A
@ @i

@ ww

 (5) IR T A =R
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-76.

717.

8.

C @
el

- ®

79,

80.

e)
L (3)
(@)

e e il i

Join Telegram Gro‘up "HaryanaJobs.in"

2010 ﬁquﬁmﬁ@ﬁmaﬁﬁf
e w2
(1) s
EE
EEICiN
gt

(5) IR T aqtama

W@aﬁ%m%mwﬁﬁaﬁ@j%éﬁ
ﬁzozzw‘waﬁ’wm%mwv ‘

77.

76.

- (2)

Which language was accorded the stat,
' 0

second official language-in Haryana in g0,
(1) English

Urdu

Punjabi

Haryanvi

Not attempted

(3)
(4)
(5)

Which among the following personalitig

Haryana réeceived the Padma Shri award

in the field of sports ?
Sandeep Singh

T gﬁm S (2) ' Sumit Antil
~8) FIT gﬁ?ﬂ L | (>3) ‘Bajrang Punia
(4 FowfEE (4) Yuvraj Singh
(5) (SH 7@t & Eﬂﬁﬁ .~ (5) Not attempted
: Fﬂ—&; 111?3'!1 W mgrﬁ (ﬁ—g‘ﬁ;) W W el ad ';8. ' In which year was SAI National Boxing Ac
- gam? = "~ | (Rohtak) inaugurated?
(1) 2019 « . (1) 2019 :
2018 ' (2 2018
2016 S (3) 2016
4 2017 &) 2017
.3?" T %’” a@ 7 5) .Not attempted
ﬁg{«ﬂgﬁ ;ﬁtn gﬁ?ﬂ an’?lFf E’F@T‘Tﬂ '36 ﬁb‘H ﬂﬁ @ W‘J 79\" Sportsperson Seema Punia_ Antll hails
T@?ﬁ% ? ORI ; vizhich vwllage in Haryana ¢ ?
(1) I (1) * Ujhana |
@ auE (@) Khandra
RORR:cc Aimiile ' (3) Khewda
@ e TS ) Kaluwas
(5) m?ﬁﬁiﬁ»’% i ‘—//, ) (5) " Not attempted
2015 i ﬂ?ﬁa ﬁ ’T&; %'H E’P{?JTUﬁﬁ ﬁv_q 'm'sf 3l Usﬁq 80 Which Haryanvi film released in 2015 ¥
?T:;T?mm LY _ two National Awards ? .
@ (1) Beera' Shera ,
@ @ i (2) Chand Chakori
W i IR |
Do iw ey
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Where is the Chhaj ornament worn by women ?

B
9/ (1‘)_’ qrmo ‘(1) TForehead
' ('2) néq ﬁ( ;'\ (2) Neck
) T ‘ i (4) Waist
(5) ST & & =Tl & (5) Not attempted
F S T T fi= aﬂ'r tnzhﬁ + Tafia 82.‘ Which dance form of Haryana is dedicated to
g, T iva and Parvati ?
37 . Shiva and Parvati
' Manjira Dance
S Fﬁﬁn E[F‘I / E; Lai;?; Dance
@ T - (3) Ratwai Dance
(3) AR :ﬁ (4) - Gangor Dance
4 T ‘ ' ‘5 Not attémpted' ‘
®) ﬂ’f?‘%«“m o |
' Mosi owing statements :
o f O St Eﬁﬁq 83. Consider the,'follovzlrllg Sfa ;me;l 8 S
manufa
(@) <, e § P wie w . e
w9 HI % A @t
. (b) %"T‘ & W =t ST S ~ (b) This'shawl style is also known as Phulkari.
i 33 e /@[ T "H'@ % /39 Whlcht 9of the statements given above is/are
correc
(1) ¥ (a) o
o (1) Only (a)
(2) Fad b »
) _qu (2) Only (b)
. (:.)")‘ (a)@ - (3)  Both (a) and (b)
e <a)qa(b)ﬁﬁaﬁér€f : : |
aT-IT . v . (4) Neither (a) or (b)
: :(5) 3?11‘7{?5 (B ,Not attempted
34. 170 44 “ﬁa@aﬁ # T 5 T I 04, After the death of Najib-ad- Dawlah in 1770 AD,
. TTae fod firem 2 “who ascended his throne ?
D) 3w e srearelt (1) Ahmad Shah Abdali
- @ wEEm (2) Jabit Khan
i (3} 6 G - (3) Najaf Khan _
@) wEsh ﬁqﬁm (4) Mahadji Scindia
(6) I i:n ;«ﬂﬁﬁ (5) Not attempted
35, * giEmn ﬁ gﬁqg a'g@a sﬂ’a Eal ﬁq‘?ﬂ] hdl Tc‘*m ™| g5, When was the famous Badkhal lake of Haryana
q1 2 developed ?
(1) =9 1940ﬁ (1) In 1940
2 39 19477 (2) - In 1947
@ =% 1950 % (3) In 1950
L@ w1974 % (4) In1974
(6) Not attéempted
O Tt i ed mpte

RAMA/AUPage 19

< T4 % foTg T | SPACE FOR ROUGH WORK


dkmal
Highlight

dkmal
Highlight

dkmal
Highlight

dkmal
Highlight

dkmal
Highlight


AT UL QY 1Y IR

e 117 g S e G B R
. eI FATIH
L

. I wHE b, Sore s

C O IIL wiEEE.. 0 e . UH@
IV, wigEEr d.  TRETG

(1) I-b; II-c; III-d; IV-a
@) I-a; II-d; IiI-b- IV—c
(3 1-d; II-a; III-b; IV—c
@ I b IM-a; TV-d
(5) I :.-g} LSl Ens%r '

8T wmﬂﬁwwﬁw%?

Q. @@ b
(3) SETm
(@)
. (5) quﬁémam%

88. gﬁawnqama"fwaﬁuﬁm 1994%:3@1!:)(%);_
- Wﬁw%@ﬂﬁﬁﬁq@ﬁaﬁ%maaﬁﬁmu _

P A R L,
sy Wmﬁﬁr :
@ ww=rERfy O

3) wmqawaﬁﬁ

@ ﬁﬁé@qﬁm(w%z)qaa’mmufﬁﬁm
N Wqﬁ%ﬂmﬁ

Aryardping gen in Column I with thelr by

names in Column II: Q&

Y

Column I : Column 1
1. Sairishaka ‘a. Sirsa
II.° Kanoud b. Keith_al
III. Kapisthal c. Panipat
IV Panduprastha  d. Mahendragarh

(1) I-b; I-c; I1-d; IV-2
(2) T-a; 1I-d; 11I-b; IV—¢
,(3) I-d; II—e; 111-b; IV—c ~

@) I—c; II-b; IIT-a; IV-d -~
(5) Not attempted “

|87. Where is Baba Ladaana Tirth Sthal situateq

- Rewan
@ Jlnd :
© (3 Ambala
(4) : "Ke'i‘th'a_l L
' (5)  Not attempted

58, Which, of the following committees is
" appointed by the Panchayat Samiti accordi
Chapter X of the Haryana Panchayati Raj:
1994 ? - '
(1) Social Justlce Commlttee
(_2) ‘General Commlttee
@@ _Health and Welfare Committee
@ Fmance Audit and Planmng Comumitte

~(5) + Not attempted

89. When was the first pME

in Haryana ? ?

{ (13‘ 17yth January, 1955

(2 10th May, 2005
(8) 7" August, 1998
: (4) 1% November, 1966

(5) Not attempted

RAMA/A1/Page 20 \

% %‘Rf % forg wam ) SPACE FOR ROUGH WORK


dkmal
Highlight

dkmal
Highlight

dkmal
Highlight

dkmal
Highlight


in Telegram Group "HaryanadJobs.in™
e e Jgﬁ%e%e)g am Group y
90- ' : 90. Which district of Haryana receives the highest
' M . Iees rainfall ?
(2) AT T e T (1) Hisar
@ FE o (@) Amibala
(4) ot i . l . (3) Kurukshetra
(5) Wqﬁﬁm E T e (4 Bhiwani
<he i W{\a‘é S WT oo v - 40 (5) Not attempted )
g (1) feamC | , ‘ 91. Where is the Blue Bird lake located in Haryana ?
@ g | (@) Hisar
@) i - - (2 Jind’
4) HEAA ' L ~(8) - Faridabad .
(5) IH ERCIRCIRG) 3O _ .. (4) -Karnal
a7 y ‘ (5) Not attempted
o Wﬂm o ; - |92, The climate of Haryana is :
g; -mﬁsﬁa‘mﬂam g s (1) Continental type
@) IUeia Ik R YR o i (2) Suijemld Tehtperate type
: (4) Cﬂ?ﬁ'lﬁ S S R A e ) ,.Suh-Tropical Dry Continental type
' @ e (4) - Sub-Humid Sub-Tropical type

| (5) : Not attempted
jof W BJ\T R W l e T'ﬁ' &l 93. What is the One Time Cash Award for Mahavir

qoehr fem Gmﬂ 27 ’ Chakra Awardee? 7
.(1) " ¥ 2,00,00,000 : , (1) %2,00,00,000
(2), ¥ 1,00,00,000 * - Co | G 1,00,00,000 °
(3) % 4,00,00,000 o (3 74,00,00,000
4) 60000000 - 0 | @ 6,00,00,000
(5) IW %"rimmﬂﬁ _ e I '(5) Not attempted ‘
94, gfamn =1 TS geft ? ? 4 > ¥ |94, What is the State Bird ofHaryana ?
(1) ‘ai?gfﬁ%m < | - e (1) House Sparrow 3"
(2) W e .| (2 GreatEgret
() whush gfmed) . (3  Humming Bird -
@ werdew - o K (4)  Black Francolin
(5) W@&m%ﬁ‘aﬁ g ki e eB) Not attempted
9%. %‘H RN ﬁ Lgﬁ:qrcrn F1 et TahET GiTHT H 7 |95, Wthh mty is'known as the ‘Heart of Haryana’?
O FE e . T S @ Ambala :
@ - e (2 Jind
(3) Tertg (W) AN G 3 G\trgaon.(Gurg_gram)
(@) ‘Tﬂgﬁ‘r : v A (4)  Panchkula
) 3?1’(?5‘12?1’1 ?ﬂ'&'ﬁ - . \/" | .’ - (8 Not attempted
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96. What is the percentage of the tot.
otal eXpen, dit,

96. Efemon sy were % Rfgad 2022 - 23 # e T
=1 fraa sfawa fren & &9 § =59 %’g’ fryifa a1 allocated towards Education in Haryap, Uy,
T ? BUdget for the financial year 2022 - 23 9 tat,
1) 182% 1 182% |
@ 16-4% (2) 16:4%
3) 14:2% | fi; :;;‘Z’
gl : (5) Not aottem ted
(5) é:n @ed ’ pte
RS INEEEPIE Lo i
fopa 2 2 _ 1) : 1) 6857609 |
(1) 6857,609 . ' (2) 71,17,384
2 71,17,384 RN B S (3) 172,17,283
(3) 172,17,283 R 1 @ 7307902
4) 73, 07,992 7 e , (56) Not attempted :
(5) SW EriRcll ?ITE% ; : it - |98, How many. District Le'\'fel Tre—asui*ies are therej
o5. s wdE, 2021 - 22 ) % s gﬁ?—'rruﬂ < (. ;If:f:y“az O;?”g;“f to the Haryana“ Bonong
@?%ﬂﬁﬁmwﬂaﬁmﬂ%? ' . | R 25’ e
1 25 ._ el N D
o 2z e sy el Nl (@) 28
3 23 SNy o @ 24
4 24 R S T ~ (5) Not attempted
) mqﬁ%mawﬁ R b '
99. How many v1llages have been assoc1ated with
%9. ‘FéTU‘TT'q' GFTH’T e Eﬁ\’rHT a; m Gﬂaﬁ 2022 LED - ‘Mhara Gaon, Jagmag Gaon’ Scheme till Januar
FawEAE T 20227 - -
1) 3216 o f g (D) 3218
2) 5,569 - (@ 5569
@) 4806 (3) 4,806
@ 3560 2 s L 7 3 (4 3560
6) AT P e AB). Not attempted |
100. e Tyt 100. National Beekeeping and Honey Missit
mﬁﬂﬁmﬁg? o fEme (NBHM) * (NBHM) Scheme wWas started in which year !
(1) 2099 VA i | . Haryana? - .
@ 2018 ey ——— (1) 2020
® “2019 L TRR (@) 2018
=, Al R s e 2019
6) WAy | @ 2017 :
' (5) Not attempted o /
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